921557BOX6

KICKER BAR KIT

THANK YOU FOR CHOOSING ROUGH COUNTRY FOR YOUR SUSPENSION NEEDS.

Rough Country recommends a certified technician install this system. In addition to these instructions, professional
knowledge of disassemble/reassembly procedures as well as post installation checks must be known. Attempts to install
this system without this knowledge and expertise may jeopardize the integrity and/or operating safety of the vehicle.

Please read instructions before beginning installation. Check the kit hardware against the parts list. Be sure you have

all needed parts and know where they go. Also please review tools needed list and make sure you have needed tools.
PRODUCT USE INFORMATION

If questions exist we will be happy to answer them concerning the design, function, and correct use of our products.

NOTICE TO DEALER AND VEHICLE OWNER
Any vehicle equipped with any Rough Country product should have a “Warning to Driver” decal installed on the inside of
the windshield or on the vehicle’s dash. The decal should act as a constant reminder for whoever is operating the vehi-
cle of its unique handling characteristics.

This optional kicker bar kit is for use with the Rough Country 2015 4”-6” F150 lift kit.

Tools Needed: Torque Specs:
h /sock Size Grade 5 Grade 8
19mm wrench /Socket 12" 65 ftlbs 90 ft/lbs
24mm wrench /socket  gign 135 fy|ps 175 ftllbs

7 1557BOX6 Containing:
/ 2-Kicker Bars
/ 2-Crossmember Bracket
L 2] 2 2-Flag nuts
g / ! Kit Bag Containing:

& - 2-1/2” X 1” Bolts
¢ 2-1/2” x 1 1/4” Bolts
o 4-1/2” x 3 1/2” Bolts
20-1/2” Flat Washers
8-1/2” Lock Nuts
4-Bushings
2-Sleeves

2-5/8” X 1.5” Bolts

ROUGH
COLUNTRY

SUSPENSION SYSTE/MNS



INSTALLATION INSTRUCTIONS

1. |Install the kicker bracket to the rear of the cross member using the supplied 1/2” x 1 1/4” bolts, washers and nuts.
Tighten using a 19mm wrench / socket. See Photo 1.

2. Install the supplied bushings and sleeves in the kicker bars.
3. Install kicker bars using the 1/2 x 3"1/2 bolts on the rear cross-member as shown in Photo 2. Do not tighten at this

time. )
PHOTO 2

4. Swing up the kicker bar to locate the appropriate hole on the factory cross-member to install the flag nut. Using the
supplied 5/8”" x 1.5” bolt, washer attach the rear of the kicker bar to the cross-member.

POST INSTALLATION INSTRUCTIONS

1. Check all fasteners for proper torque. Check to ensure there is adequate clearance between all rotating, mobile,
fixed and heated members. Check steering gear for interference and proper working order.
2. All components must be retightened after 500 miles, and every three thousand miles after installation.

By purchasing any item sold by Rough Country, LLC, the buyer expressly warrants that he/she is in compliance with all applica-

ble Federal, State, and Local laws and regulations regarding the purchase, ownership, and use of the item. It shall be the buyers
responsibility to comply with all Federal, State and Local laws governing the sales of any items listed, illustrated or sold. The buyer
expressly agrees to indemnify and hold harmless Rough Country, LLC for all claims resulting directly or indirectly from the purchase,
ownership, or use of the items.

SUSPENSION SYSTE/MNS

THANK YOU FOR CHOOSING ROUGH COUNTRY FOR YOUR SUSPENSION NEEDS



